

# On Fractional Differential Operator Involving $\bar{H}$ -function \*

S. C. Sharma<sup>†</sup>

*Department of Mathematics*

*University of Rajasthan, Jaipur-302055, India*

and

Rachna Bhargava<sup>‡</sup>

*Department of Mathematics*

*Vivekananda Institute of Technology (East)(VIT Campus), Jaipur-303012, India*

Received July 2, 2010, Accepted October 15, 2010.

## Abstract

In the present paper we establish an important result involving a fractional differential operator given by Misra [5] for the product of  $\bar{H}$ -function, general polynomial set and two general class of polynomials. On account of the general nature of the functions and the polynomials occurring in our main results a large number of simple results follow as its special cases. For the sake of illustration, we present here two special cases involving product of general class of polynomials and the generalized Riemann Zeta function.

**Keywords and Phrases:** *Fractional derivative, General class of multivariable polynomials, Generalized polynomial set,  $\bar{H}$ -function.*

---

\*2000 *Mathematics Subject Classification.* Primary 26A33, 33C60, 33C99.

<sup>†</sup>E-mail: sureshchand26@gmail.com

<sup>‡</sup>Corresponding author. E-mail: r.bhargava72@yahoo.com

## 1. Introduction

### Fractional Differential Operator

Misra [5] has defined the fractional derivative operators in the following manner:

$$D_x^\alpha (x^{\mu-1}) = \frac{d^\alpha}{dx^\alpha} x^{\mu-1} = \frac{\Gamma(\mu)}{\Gamma(\mu-\alpha)} x^{\mu-\alpha-1}, \quad \alpha \neq \mu \quad (1.1)$$

$$D_{k,\alpha,x}(x^\mu) = \frac{\Gamma(\mu+1)}{\Gamma(\mu-\alpha+1)} x^{\mu+k}, \quad \alpha \neq \mu+1 \quad (1.2)$$

$$D_{k,\alpha,x}^n(x) = \prod_{r=0}^{n-1} \left[ \frac{\Gamma(\mu+1+rk)}{\Gamma(\mu+1+rk-\alpha)} \right] x^{\mu+nk} \quad (1.3)$$

$\alpha$  and  $k$  are not necessarily integers

### General class of Polynomials of g-variables

The following general class of polynomials of g-variables due to Srivastava and Garg [7, p.686, eq.(1.4)] is defined and denoted as follows:

$$S_N^{M_1, \dots, M_g} [x_1, \dots, x_g] = \sum_{k_1, \dots, k_g=0}^{M \leq N} [(-N)_M B(n; k_1, \dots, k_g)] \prod_{i=1}^g \frac{(x_i)^{g_i}}{g_i!} \quad (1.4)$$

where  $M = \sum_{i=1}^g M_i k_i$  ( $M_i \geq 1, i = 1, \dots, g$ ) and  $B(N; k_1, \dots, k_g)$  are arbitrary constant (real or complex).

### A Generalized Polynomial Set

Raizada has introduced and studied a generalized polynomial set. The explicit form of this generalized polynomial set [6, p.71, eq.(2.3.4)] is:

$$S_n^{\alpha, \beta, \tau} [x; r, s, q, A, B, m, k, \ell] = B^{qn} x^{\ell(m+n)} (1 - \tau x^r)^{sn} \ell^{m+n}$$

$$\sum_{p=0}^{m+n} \sum_{e=0}^p \sum_{\delta=0}^{m+n} \sum_{i=0}^{\delta} \frac{(-1)^\delta (-p)_e (-\delta)_i (\alpha)_\delta}{p! \delta! i! e!} \frac{(\alpha - qn)_i}{(1 - \alpha - \delta)_i} \left( -\frac{\beta}{\tau} - sn \right)_p$$

$$\left(\frac{\ell + k + re}{\ell}\right)_{m+n} \left(-\frac{\tau x^r}{1 - \tau x^r}\right)^p \left(\frac{Ax}{B}\right)^\delta$$

If  $\tau \rightarrow 0$  and using following result

$$\lim_{|b| \rightarrow \infty} (b)_n \left(\frac{z}{b}\right)^n = z^n$$

we arrive at the following polynomial set:

$$S_n^{\alpha, \beta, 0} [x; r, q, 1, 0, m, k, \ell] = x^{qn + \ell(m+n)} \ell^{m+n} \sum_{p=0}^{m+n} \sum_{e=0}^p \frac{(-p)_e}{p! e!} \left(\frac{\alpha + qn + k + re}{\ell}\right)_{m+n} (\beta x^r)^p \tag{1.5}$$

**$\bar{H}$ -function**

The  $\bar{H}$ -function was introduced by Inayat Hussain [4] and studied by Bushman and Srivastava [1]. The  $\bar{H}$ -function will be defined and represented in the following manner:

$$\begin{aligned} \bar{H}_{P,Q}^{M,N} [z] &= \bar{H}_{P,Q}^{M,N} \left[ z \left| \begin{matrix} (a_j, \alpha_j; A_j)_{1,N}, (a_j, \alpha_j)_{N+1,P} \\ (b_j, \beta_j)_{1,M}, (b_j, \beta_j; B_j)_{M+1,Q} \end{matrix} \right. \right] \\ &= \frac{1}{2\pi\omega} \int \bar{\phi}(\xi) z^\xi d\xi \quad (z \neq 0) \end{aligned} \tag{1.6}$$

where

$$\bar{\phi}(\xi) = \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j \xi) \prod_{j=1}^N \{\Gamma(1 - a_j + \alpha_j \xi)\}^{A_j}}{\prod_{j=M+1}^Q \{\Gamma(1 - b_j + \beta_j \xi)\}^{B_j} \prod_{j=N+1}^P \Gamma(a_j - \alpha_j \xi)} \tag{1.7}$$

Here  $a_j$  ( $j = 1, \dots, P$ ) and  $b_j$  ( $j = 1, \dots, Q$ ) are complex parameter  $\alpha_j = 0$  ( $j = 1, \dots, P$ ),  $\beta_j = 0$  ( $j = 1, \dots, Q$ ) (not all zero simultaneously) and the exponents  $a_j$  ( $j = 1, \dots, N$ ) and  $b_j$  ( $j = M+1, \dots, Q$ ) can take on integer values.

The following sufficient conditions for the absolute convergence of the defining integral for the  $\bar{H}$ -function given by Bushman and Srivastava [1]

$$T = \sum_{j=1}^M \beta_j + \sum_{j=1}^N |A_j \alpha_j| - \sum_{j=M+1}^Q |B_j \beta_j| - \sum_{j=N+1}^P \alpha_j > 0 \tag{1.8}$$

and

$$|\arg z| < 1/2 \pi$$

## Binomial Expansion

Binomial Expansion is given

$$(ax^\nu + b)^\lambda = b^\lambda \sum_{\ell=0}^{\lambda} \binom{\lambda}{\ell} \left(\frac{ax^\nu}{b}\right)^\ell \quad (1.9)$$

where  $\lambda > 0$

## 2. Main Result

$$D_{k,\alpha,x}^n \{x^\mu (ax^\nu + b)^\lambda S_N^{M_1, \dots, M_g} [y_1 x^{u_1} (ax^\nu + b)^{\eta_1}, \dots, y_g x^{u_g} (ax^\nu + b)^{\eta_g}]$$

$$S_N^{M'_1, \dots, M'_f} [y_1 x^{u'_1} (ax^\nu + b)^{\eta'_1}, \dots, y_f x^{u'_f} (ax^\nu + b)^{\eta'_f}]$$

$$S_{n'}^{\alpha, \beta, 0} [z x^{u''} (ax^\nu + b)^{\eta''}; r', q, 1, 0, m, k', \ell]$$

$$\bar{H}_{P,Q}^{M,N} \left[ z x^\lambda \begin{matrix} (a_j, \alpha_j; A_j)_{1,N}, (a_j, \alpha_j)_{N+1,P} \\ (b_j, \beta_j)_{1,M}, (b_j, \beta_j; B_j)_{M+1,Q} \end{matrix} \right]$$

$$= \sum_{k_1, \dots, k_g=0}^{M'' \leq N} \sum_{k'_1, \dots, k'_f=0}^{M'' \leq N'} \sum_{p=0}^{m+n'} \sum_{e=0}^p \sum_{h=0}^{\infty} \theta(k_1, \dots, k_g; k'_1, \dots, k'_f, p, e)$$

$$b^{\lambda + \eta'' R + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s} x^{\mu + \nu h + u'' R + nk + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s}$$

$$\frac{(\lambda + \eta'' R + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s)!}{h! (\lambda - h + \eta'' R + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s)!}$$

$$(a/b)^h \bar{H}_{P+n, Q+n}^{M, N+n} \left[ z x^\lambda \begin{matrix} (-\mu - tk - \nu h - u'' R - \sum_{j=1}^g u_j k_j - \sum_{s=1}^f u'_s k'_s - \lambda; 1)_{t=0, n-1} \\ (b_j, \beta_j)_{1,M}, (b_j, \beta_j; B_j)_{M+1,Q} \end{matrix} \right]$$

$$\left. \begin{matrix} (a_j, \alpha_j; A_j)_{1,N}, (a_j, \alpha_j)_{N+1,P} \\ (\alpha - \mu - tk - \nu h - u'' R - \sum_{j=1}^g u_j k_j - \sum_{s=1}^f u'_s k'_s - \lambda; 1)_{t=0, n-1} \end{matrix} \right] \quad (2.1)$$

where

$$\theta(k_1, \dots, k_g; k'_1, \dots, k'_f, p, e) = \frac{(-N)_{M''}}{k_1! \dots k_g!} \frac{(-N')_{M'''}}{k'_1! \dots k'_f!} E(N; k_1, \dots, k_g)$$

$$F(N'; k'_1, \dots, k'_f) y_1^{k_1}, \dots, y_g^{k_g}; y_1^{k'_1}, \dots, y_f^{k'_f} (\ell)^{m+n'} \frac{(-p)_e}{p! e!} \left( \frac{\alpha + qn' + k' + r'e}{\ell} \right)_{m+n'} \beta^p z^R$$

$$M'' = M_1 k_1 + \dots + M_g k_g$$

$$M''' = m'_1 k'_1 + \dots + M'_f k'_f$$

$$R = qn' + r'p + \ell(m + n')$$

and provided that the following conditions are satisfied:

(i) The quantities  $u_j, \eta_j, u'_s, \eta'_s, u'', \eta'' (j = 1, \dots, g; s = 1, \dots, f)$  are all positive.

(ii)  $\nu; M_j, M'_s (j = 1, \dots, g; s = 1, \dots, f)$  are arbitrary positive integers and the coefficients  $E(N; k_1, \dots, k_g), F(N'; k'_1, \dots, k'_f), (N, N'; k'_1, \dots, k'_g, k'_1, \dots, k'_f \geq 0)$  are arbitrary constants, real or complex.

(iii)  $T = \sum_{j=1}^M \beta_j + \sum_{j=1}^N |A_j \alpha_j| - \sum_{j=M+1}^Q |B_j \beta_j| - \sum_{j=N+1}^P \alpha_j > 0$  (2.2)

(iv)  $|\arg z| < \frac{1}{2} T \pi$

(v)  $Re(\mu) > 0,$

(vi)  $\alpha < 0$

(vii)  $\lambda + \eta'' q n' + \eta' r' p + \eta' \ell(m + n') + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s > 0$

**Proof of Our Main Result**

To establish (2.1), we first use series representation (1.4) and (1.5) for  $S_N^{M_1, \dots, M_g} [x_1, \dots, x_g]$  and  $S_n^{\alpha, \beta, 0}$  respectively and contour integral representation (1.6) for  $\bar{H}$ -function occurring in the left hand side of (2.1), it takes the following form (say  $\Delta$ )

$$\Delta = D_{k, \alpha, x}^n \{x^\mu (ax^\nu + b)^\lambda \sum_{k_1, \dots, k_g=0}^{M_1 k_1 + \dots + M_g k_g \leq N} \frac{(-N)_{M_1 k_1 + \dots + M_g k_g}}{k_1! \dots k_g!}$$

$$\begin{aligned}
 & E(N; k_1, \dots, k_g) y_1^{k_1}, \dots, y_g^{k_g} x^{u_1 k_1 + \dots + u_g k_g} (a x^\nu + b)^{\eta_1 k_1 + \dots + \eta_g k_g} \\
 & \sum_{k'_1, \dots, k'_f = 0}^{M'_1 k'_1 + \dots + M'_f k'_f \leq N'} \frac{(-N')_{M'_1 k'_1 + \dots + M'_f k'_f}}{k'_1! \dots k'_f!} F(N', k'_1, \dots, k'_f) y_1^{k'_1}, \dots, y_f^{k'_f} x^{u'_1 k'_1 + \dots + u'_f k'_f} \\
 & (a x^\nu + b)^{\eta'_1 k'_1 + \dots + \eta'_f k'_f} [z x^{u''} (a x^\nu + b)^{\eta''}]^{qn' + \ell(m+n')} \ell^{(m+n')} \\
 & \sum_{p=0}^{m+n'} \sum_{e=0}^p \frac{(-p)_e}{p! e!} \left( \frac{\alpha + qn' + k' + r'e}{\ell} \right)_{m+n'} \\
 & \left\{ \beta z^{r'} x^{u''r'} (a x^\nu + b)^{\eta''r'} \right\}^p \left\{ \frac{1}{2\pi\omega} \int_{-\omega\infty}^{\omega\infty} \bar{\phi}(\xi) z^\xi x^{\lambda\xi} d\xi \right\} \tag{2.3}
 \end{aligned}$$

Interchanging the order of summation and integration (which is permissible under the condition stated)

$$\begin{aligned}
 \Delta &= \sum_{k_1, \dots, k_g = 0}^{M_1 k_1 + \dots + M_g k_g \leq N} \sum_{k'_1, \dots, k'_f = 0}^{M'_1 k'_1 + \dots + M'_f k'_f \leq N'} \sum_{p=0}^{m+n'} \sum_{e=0}^p \frac{(-N)_{M_1 k_1 + \dots + M_g k_g}}{k_1! \dots k_g!} \\
 & \frac{(-N')_{M'_1 k'_1 + \dots + M'_f k'_f}}{k'_1! \dots k'_f!} E(N; k_1, \dots, k_g) F(N' : k'_1, \dots, k'_f) y_1^{k_1}, \dots, y_g^{k_g} y_1^{k'_1}, \dots, y_f^{k'_f} \\
 & \frac{(-p)_e}{p! e!} \ell^{(m+n')} \left( \frac{\alpha + qn' + k' + r'e}{\ell} \right)_{m+n'} \\
 & \beta^p z^{qn' + r'p + \ell(m+n')} \frac{1}{2\pi\omega} \int_{-\omega\infty}^{\omega\infty} \bar{\phi}(\xi) z^\xi \\
 & D_{k, \alpha, x}^n \left\{ x^{\mu + u'qn' + u'r'p + \ell u''(m+n') + \sum_{j=1}^g u_j k_j + \sum_{s=1}^f u'_s k'_s + \lambda\xi} \right. \\
 & \left. (a x^\nu + b)^{\lambda + \eta'qn' + \eta'r'p + \eta''\ell(m+n') + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s} \right\} d\xi \tag{2.4}
 \end{aligned}$$

Now using the Binomial Expansion given by (1.9), we get with the help of equation (1.3)

$$\Delta = \sum_{k_1, \dots, k_g=0}^{M_1 k_1 + \dots + M_g k_g \leq N} \sum_{k'_1, \dots, k'_f=0}^{M'_1 k'_1 + \dots + M'_f k'_f \leq N'} \sum_{p=0}^{m+n'} \sum_{e=0}^p \sum_{h=0}^{\infty} \frac{(-N)_{M_1 k_1 + \dots + M_g k_g}}{k_1! \dots k_g!}$$

$$\frac{(-N')_{M'_1 k'_1 + \dots + M'_f k'_f}}{k'_1! \dots k'_f!} E(N; k_1 + \dots + k_g) (N'; k'_1, \dots, k'_f)$$

$$y_1^{k_1}, \dots, y_g^{k_g} y_1^{k'_1}, \dots, y_f^{k'_f} \frac{(-p)_e}{p! e!} (\ell)^{m+n'} \left( \frac{\alpha + qn' + k' + r'e}{\ell} \right)_{m+n'}$$

$$\beta^p z^{qn'+r'p+\ell(m+n')} b^{\lambda+\eta' \{qn'+r'p+\ell(m+n')\} + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s}$$

$$\frac{(\lambda + \eta' \{qn' + r'p + \ell(m+n') + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s\})!}{h! (\lambda - h + \eta' \{qn' + r'p + \ell(m+n') + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s\})!} \left( \frac{a}{b} \right)^h$$

$$x^{\mu+\nu h+u' \{qn'+r'p+\ell(m+n')\} + nk + \sum_{j=1}^g u_j k_j + \sum_{s=1}^f u'_s k'_s} \left\{ \frac{1}{2\pi\omega} \int_{-\omega\infty}^{\omega\infty} \bar{\phi}(\xi) (x^\lambda z)^\xi \right.$$

$$\left. \prod_{t=0}^{n-1} \frac{\Gamma(1 + tk + \mu + \nu h + u' \{qn' + r'p + \ell(m+n')\} + \sum_{j=1}^g u_j k_j + \sum_{s=1}^f u'_s k'_s + \lambda\xi)}{\Gamma(1 + \mu + \nu h + tk - \alpha + u' \{qn' + r'p + \ell(m+n')\} + \sum_{j=1}^g u_j k_j + \sum_{s=1}^f u'_s k'_s + \lambda\xi)} \right\} d\xi$$

Further interpreting the above result with the help of (1.7), we get required result (2.1) after a little simplification.

### 3. Special Cases

(i) If in the result (2.1) we take

$$M_j = M \ (j = 1, \dots, g), \ E(N; k_1, \dots, k_g) = E_{N,k}$$

and

$$M'_s = M' \ (s = 1, \dots, f), \ F(N'; k'_1, \dots, k'_f) = F_{N',k'}$$

then

$$S_N^{M_1, \dots, M_g}[x] \rightarrow S_N^M[x] \text{ and } S_{N'}^{M'_1, \dots, M'_f}[x] \rightarrow S_{N'}^{M'}[x]$$

and we arrive at the following result:

$$\begin{aligned} & D_{k, \alpha, x}^n \{x^\mu (ax^\nu + b)^\lambda S_N^M [yx^u (ax^\nu + b)^\eta] S_{N'}^{M'} [yx^{u'} (ax^\nu + b)^{\eta'}]\} \\ & S_{n'}^{\alpha, \beta, 0} [z x^{u''} (ax^\nu + b)^{\eta''} : r', q, 1, 0, m, k', \ell] \\ & \bar{H}_{P, Q}^{M, N} \left[ z x^\lambda \begin{matrix} (a_j, \alpha_j; A_j)_{1, N}, (a_j, \alpha_j)_{N+1, P} \\ (b_j, \beta_j)_{1, M}, (b_j, \beta_j; B_j)_{M+1, Q} \end{matrix} \right] \\ & = \sum_{k=0}^{[N/M]} \sum_{k'=0}^{[N'/M']} \sum_{p=0}^{m+n'} \sum_{e=0}^p \sum_{h=0}^{\infty} \frac{(-N)_{M, k}}{k!} \frac{(-N')_{M', k'}}{k'!} E_{N, k} F_{N', k'} y^k y^{k'} \\ & \frac{(-p)_e}{p! e!} (\ell)^{m+n'} \left( \frac{\alpha + qn' + k' + r'e}{\ell} \right)_{m+n'} \beta^p z^R b^{\lambda + \eta' R + \eta k + \eta' k'} \\ & (a/b)^h x^{\mu + \nu h + u'' R + \eta k + \eta' k' + nk} \frac{(\lambda + \eta' R + \eta k + \eta' k')!}{h! (\lambda - h + \eta' R + \eta k + \eta' k')!} \\ & \bar{H}_{P+n, Q+n}^{M, N+n} \left[ z x^\lambda \begin{matrix} (-\mu - tk - \nu h - u'' R - uk - u' k', \lambda; 1)_{t=0, n-1}, (a_j, \alpha_j; A_j)_{1, N}, (a_j, \alpha_j)_{N+1, P} \\ (b_j, \beta_j)_{1, M}, (b_j, \beta_j; B_j)_{M+1, Q}, (\alpha - \mu - tk - \nu h - u'' R - uk - u' k', \lambda; 1)_{t=0, n-1} \end{matrix} \right] \quad (3.1) \end{aligned}$$

(ii) If we reduce the  $\bar{H}$ -function occurring in the left hand side of (2.1) to Generalized Riemann Zeta function [2, p.27, 1.11, eq.(1); 3, p.314-315, eq.(1.6) and (1.7)]  $\phi(z, p', \eta)$  given by

$$\phi(z, p', \eta) = \sum_{r=0}^{\infty} \frac{z^r}{(\eta + r)^{p'}} = \bar{H}_{2,2}^{1,2} \left[ -z \begin{matrix} (0, 1, 1), (1 - \eta, 1; p') \\ (0, 1), (-\eta, 1; p') \end{matrix} \right],$$

we arrive at the following result

$$D_{k, \alpha, x}^n \{x^\mu (ax^\nu + b)^\lambda S_N^{M_1, \dots, M_g} [y_1 x^{u_1} (ax^\nu + b)^{\eta_1}, \dots, y_g x^{u_g} (ax^\nu + b)^{\eta_g}]\}$$



$$\begin{aligned}
 & S_N^{M'_1, \dots, M'_f} [y_1 x^{u'_1} (ax^\nu + b)^{\eta'_1}, \dots, y'_f x^{u'_f} (ax^\nu + b)^{\eta'_f}] \\
 & S_n^{\alpha, \beta, 0} [z u'' (ax^\nu + b)^{\eta''} : r', q, 1, 0, m, k', \ell] \phi(z (x^\lambda, p'\eta)) \\
 = & \sum_{k_1, \dots, k_g=0}^{M'' \leq N} \sum_{k'_1, \dots, k'_f=0}^{M''' \leq N'} \sum_{p=0}^{m+n'} \sum_{e=0}^p \sum_{h=0}^{\infty} \theta(k_1, \dots, k_g; k'_1, \dots, k'_f, p, e) \\
 & b^{\lambda+\eta''R+\sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s} x^{\mu+\nu h+u''R+\sum_{j=1}^g u_j k_j + \sum_{s=1}^f u'_s k'_s + nk} \\
 & \frac{(\lambda + \eta' 'R + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s)!}{h! (\lambda - h + \eta' 'R + \sum_{j=1}^g \eta_j k_j + \sum_{s=1}^f \eta'_s k'_s)!} (a/b)^h \\
 \bar{H}_{P+n+2, Q+n+2}^{M+1, N+n+2} & \left[ -zx^\lambda \left| \begin{matrix} (-\mu-tk-\nu h-u' 'R-\sum_{j=1}^g u_j k_j-\sum_{s=1}^f u'_s k'_s, \lambda; 1)_{t=0, n-1}, (0, 1; 1), (1-\eta, 1, p') \\ (0, 1), (-\eta, 1, p'), (\alpha-\mu-tk-\nu h-u''R-\sum_{j=1}^g u_j k_j-\sum_{s=1}^f u'_s k'_s, \lambda; 1)_{t=0, n-1} \end{matrix} \right. \right] \tag{3.2}
 \end{aligned}$$

**Acknowledgement**

The author is thankful to Professor H.M. Srivastava and the referee for there valuable suggestions.

**References**

- [1] R. G. Bushman and H. M. Srivastava, The  $\bar{H}$ -function Associated with a certain class of Feynmann Integrals, *J. Phys. A: Math. Gen.*, **23**(1990), 4707-4710.
- [2] A. Erdélyi, W. Magnus, F. Oberthettinger, and F. G. Tricomi, *Higher Transcendental Functions*, Vol.I, McGraw-Hill Book Company, New York, Toronto, London, 1953.
- [3] M. Garg and R. Misra, On product of Hypergeometric Functions, General class of Multivariable Polynomials and a Generalized Hypergeometric Series Associated with Feynmann integrals, *Bull. Cal. Math. Soc.*, **95** no.4 (2003), 313-324.

- [4] A. A. Inayat Hussain, New Properties of Hypergeometric Series Derivable from Feynmann Integrals II, A Generalization of the H-function, *J. Phys. A. Math. Gen.*, **20**(1987), 4119-4128.
- [5] A. P. Misra, On fractional differential operator, *Ganita*, **26** no.2 (1975), 1-18.
- [6] S. K. Raizada, *A study of unified representation of special functions*, Mathematical physics and their use in statistical and boundary value problem, Ph.D. Thesis, Bundelkhand University, Jhansi, India, 1991.
- [7] H. M. Srivastava and M. Garg, Some integrals involving a general class of polynomials and the multivariable H-function, *Rev. Roumaine Phys.*, **32**(1987), 685-692.